STA286 Problem Set 4 Solution

Problem 4.6

Let random variable "X" denote earning, then according to expectation definition:
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Problem 4.7

According to definition of expectation, the expected gain is computed as following:
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Problem 4.12

Taking expectation over continuous probability density function:
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Thus, the profit in money figure is § x $5000 = $1666.67.
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Problem 4.18

Expected value of the random variable g(X) is:
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Problem 4.21

The average profit is computed by expectation of the random variable g(X) = X?:
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E[gX)] =f x2f(x)dx
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Thus, the profit in money figure is % x $5000 = $833.33.
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